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Question Number : 1 Question Id : 762857211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forelt ofr oftaer & fresryor #r ot el g Bl

Options :
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Question Number : 1 Question Id : 762857211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The complete response for analysis of any circuit is:
Options :
760857341 % only its natural response

760857347 % only its forced response

760857343 v ©only its natural and forced response

760857344 % the sum of natural, forced and transient responses

Question Number : 2 Question Id : 762857212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given figure, the value of current I(oo) is: (t is time)

'f_"! 1Kohm

Fa

12u(t:3) {¥) 100mH




Options :
12

762857845, « 1000

66
762857846, ¥ 1000

120
762857847, # 1000

233
762857848, # 1000

Question Number : 2 Question Id : 762857212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 TS5 HF H, UNT |(0)3F A hdar gren? (1 T97 §)
) 1Kohm
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Options :
12

762857845, « 1000



56
762857846, ¥ 1000

120
762857847, ¥ 1000

833
762857848, % 1000

Question Number : 3 Question Id : 762857213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true for an RC circuit if I is the capacitor current and V is the voltage across capacitor?
Options :

762857849, % 1(0H)=1(0-)

762857850, % 1(07)=1(0-)

762857851, ¢ ¥ (0T) =V (0-)

760857852, % ¥ (0T) =V (0-)

Question Number : 3 Question Id : 762857213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE | gUE H 9a1fed 9RT ¢ 3RV, TUiE & f&aar & &= aeee ¢, ar 38 RC afgyr & v
= &7 ¥ FiF-ur e wgr grem?

Options :




762857849, % 1(0F)=1(0-)

762857850, % 1(0T)=1(0-)

762857851, ¢ ¥ (0T) =V (0-)

762857852, % ¥ (0T) =V (0-)

Question Number : 4 Question Id : 762857214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the definition of a three-phase balanced load?

Options :

760857853 1t draws power equally from all three phases with all types of load

760857354 % 1t draws power unequally from all three phases with all types of load

762857855, % 1t draws power equally from all three phases with resistive type of load only

762857856, % 1t draws power equally from all three phases with inductive type of load only

Question Number : 4 Question Id : 762857214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3-%aT Wford I T aRersT F47 22

Options :




62857853 TE TET TR & HRT & @Y T 3-%a ¥ FAW Ufed o gl
762857854, % Wﬁaﬂm#ﬂmﬁmm S-ﬂ'ﬁT@'m %Iﬁﬁ@?ﬂ%‘l
C6ag57855. % TE HaA TR FRR & #R & T T 3-5A F FH o0fFd AT g

762857856, % WWWW¢m#mﬂm3mﬁmﬂmmﬁl

Question Number : 5 Question Id : 762857215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A single-phase three-wire AC source will have:
Options :
760857857 % One output terminal

762857858, % two output terminals

762857859, ¢ three output terminals

760857360, % four output terminals

Question Number : 5 Question Id : 762857215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 6 Question Id : 762857216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of following is the cogging effect of a three-phase induction motor related?
Options :
760857361 v Starting problem

762857862, % Speed variation problem

760857363, % Efficiency problem

760857864, % voltage regulation problem

Question Number : 6 Question Id : 762857216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 %= UTOT HIET FH FIEET 99T (cogging effect) T & ¥ Faw gafg 22

Options :



760857861, ¥ ggda FHE (Starting problem)

762857862, T ffe=ar FFETT (Speed variation problem)

260857863, % aaidl HAEAT (Efficiency problem)

760857864, % Srecs aHaT @HEAT (Voltage regulation problem)

Question Number : 7 Question Id : 762857217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a three-phase induction motor, the rotor copper loss is equal to:
Options :

760857365, % Slip/Power Input to rotor

760857866, ¢ SlP X Power Input to rotor

762857867, % FPower Input to rotor

760857368, % SLP X Power Input to rotor/frequency

Question Number : 7 Question Id : 762857217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3-thaT WUT AT & e, eT a7 afaar Fas e g 87

Options :



FIOT/TET T FaT= fFar T afFa saqe

762857865, %

FIOT x e & Fe faar mar AfFT swge

762857866. ¥

U Fer fasam 1o afea sa9e

762857867, %

FIOT X U F F& AT T AfFd sA9e / Hefed

762857868, %

Question Number : 8 Question Id : 762857218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a single-phase split-phase induction motor, the main winding has:
Options :

760857369+ 10W resistance and high inductive reactance

760857370 % ligh resistance and low inductive reactance

760857371 % high resistance and high inductive reactance

762857872, % low resistance and low inductive reactance

Question Number : 8 Question Id : 762857218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e %= fecoe = WoT A #, 7T TR A g gl

Options :




60857860, ¢ ToF ORI AR F=9 SR gideg
260857870 % 3% FTeRg AR AT s gfdea
260857871 % 39 I AT I=U 9T giaEa

60857870, % (e o 3R FEs 9 gfaea

Question Number : 9 Question Id : 762857219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following reasons is a DC injection used in a three-phase induction motor?
Options :
760857373, % 10 increase the speed of the rotor

762857874, v For dynamic braking

762857875, % To decrease of speed of the rotor

762857876, % To work as a DC motor

Question Number : 9 Question Id : 762857219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 %= 9TOT AT H v umr Ha:&9ur (DC injection) T 39T F4T fRar F1ET 27

Options :



60357873, % ST I A F T F T
J62857874, 1o T (dynamic braking) % ferw

260857875 % U T T FI FF A & o0

262857876, % DC HIET Hhr a8 FT = F T

Question Number : 10 Question Id : 762857220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the effect on hysteresis loss of a transformer if the iron core is replaced with an air core?
Options :

762857877, % It will increase five times

762857878, % It will increase to infinite

760857379 % 1t Will remain unchanged

762857880, ¢ It will reduce to zero

Question Number : 10 Question Id : 762857220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 11 Question Id : 762857221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following techniques is used to provide damping torque in indicating instruments?
Options :
762857881, % R Damping

760857387 v Fluid Friction Damping

762857883, % RLC Damping

760857334 % Ihermal Damping

Question Number : 11 Question Id : 762857221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



762857881 % R 3aHcH (R Damping)

762857882 ¢ TRA-TNUT 3/ 9HE (Fluid Friction Damping)
“62g57883. % RLC 3FHEA (RLC Damping)

260857884, % AT 3gHSA (Thermal Damping)

Question Number : 12 Question Id : 762857222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The D’ Arsonval Galvanometer is a:

Options :

760857885, ¥ DC moving coil galvanometer

762857386, % DC moving magnet galvanometer

760857387 % AC moving coil galvanometer

762857388, % AC moving magnet galvanometer

Question Number : 12 Question Id : 762857222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 13 Question Id : 762857223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a hotwire instrument, which alloy is used?
Options :

762857889 « Platinum iridium

762857890, ¥ Zinc - Nickel
762857891 % Platinum - Lead

762857892 % Platinum - Li

Question Number : 13 Question Id : 762857223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
acaar (Flear) AT H, hw Fsrarg @ w3t B s 22

Options :




762857889, ¥ e - 3i' ERE

762857890, ¥ I=ien - leichel

762857891, % CeliceTd - HIET

762857892, % Telieetd - Li

Question Number : 14 Question Id : 762857224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Capacitor potential transformers are used to measure voltages:
Options :

762857893, ¢ above 100 kV

762857894, % below 10 kV
762857895, % above 1000 KV

762857896, ¥ below 50 kV

Question Number : 14 Question Id : 762857224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty e ofyonfAst (Capacitor potential transformers) T 9T e AT gg foram

ST &
Options :




762857393, v 100 kV & &
262857804, % 10 KV & &FH
262857805, % 1000 kV & 3fas

762857896, % 50 KV & FH

Question Number : 15 Question Id : 762857225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a DC/AC instrument the deflection is proportional to the:
Options :
760857397 % Vvalue of the current or voltage under measurement

762857808« Square value of the current or voltage under measurement

762857899, % Square value of the DC current or DC voltage under measurement only

260857900 % value of the AC current or AC voltage under measurement only

Question Number : 15 Question Id : 762857225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DC/AC #vTF & &Favor % HATFI B gl
Options :




762857897, ¥ AT ST aTell ORT AT Steds & Al

160857808, ¢ FTAT STet FTelr ORT IT e & J9T ATl

260857800, % hael HATHT FATA Jreir DC 91T a1 DC Jieds & T97 A

762857900, % dol ATHT T areir AC 9T I AC dieee & A

Question Number : 16 Question Id : 762857226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used for voltage regulation?
Options :

762857901, % Diode

762857902 % Transistor

762857903, ¥ IGBT

762857904, ¢ Zener Diode

Question Number : 16 Question Id : 762857226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sees o g fea & @ formem gaieT fosam mar 82

Options :

762857901, % STAIS



762857902, % < ;

762857903, % 1GBT

762857004, v SR STEIS (Zener Diode)

Question Number : 17 Question Id : 762857227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The circuit in the given image is:

et |

1] >4
v -
Vi é‘n
+

Options :

762857905, v Seties Clipper with DC supply
760857906, % Parallel Clipper with DC supply

760857907, % Series Clamper with DC supply

760857903, % Parallel Clamper with DC supply

Question Number : 17 Question Id : 762857227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

& 7% e # wefta aftay gl
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Vi gn
=
Options :

DC amqfa g Aol fFremz

762857905, ¥

DC 9T Tag §HET Fa9w
762857906. ¥ S

DC 3mqfd gara Aol Foiw

762857907, %

DC 9T T8g THET Foiw
762857908, ¥ b

Question Number : 18 Question Id : 762857228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Demultiplexer circuit is:

Options :

762857909 % a decoder circuit

762857910, ¥ an encoder circuit

760857911, v & decoder circuit with enable input



760857917 % al encoder circuit with enable input

Question Number : 18 Question Id : 762857228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rasdraeay 99y s gl

Options :

762857900, % TSEIST TG

762857910, % UeehIST TITY

TS $eAYC Jod fSehisT Iy

762857911, ¢

TATA FAIC o TeehlsT TRIY

762857912, #

Question Number : 19 Question Id : 762857229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In D flip flop the present state is 1. What will be the next state of output at the complement end?

Note: For this question, discrepancy 1s found in question/answer. Full

Marks is being awarded to all candidates.
Options :
762857913, 1

762857914, ©



762857915, 11

762857916, 01

Question Number : 19 Question Id : 762857229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
D T welta # oA HTEAT 1 §1 93 F&Y (complement end) 93 33E9E & 3@Tell 37aEAT 4T

2
Note: For this question, discrepancy 1s found in question/answer. Full

Marks is being awarded to all candidates.
Options :

762857913, 1
762857914, O
762857915. 11

762857916. 01

Question Number : 20 Question Id : 762857230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The loss factor of a power plant is applicable for:
Options :

762857917, % iron losses



762857918, ¢ COPPEL losses

760857919 % iron and copper losses

762857920 ¥ parasitic loss

Question Number : 20 Question Id : 762857230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afFa @I & @i U (loss factor) & forw @y g &

Options :

762857917, % g BNl
762857918, v N BTN
J62857010, % A8 HR T grferan

262857000, % TRTSRIT AT (parasitic loss)

Question Number : 21 Question Id : 762857231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Load duration curve is the plot between:
Options :

762857921, ¢ load and time



762857922, % 10ad and frequency

760857923, % load and voltage

762857924, % load and temperature

Question Number : 21 Question Id : 762857231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8T a1 % (Load duration curve) F &g dr=T ST gl
Options :

762857921, v HTT HIT HAL

762857922, % X AT 3 ficd
762857923, % HRX AR e

762857924, % X 3T a9

Question Number : 22 Question Id : 762857232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which material is used for making arcing contacts of circuit breakers?
Options :

760857975, % Aluminium alloy



760857926, « ‘Copper tungsten alloy

760857977 % Electrolytic copper

762857928, % Porcelain

Question Number : 22 Question Id : 762857232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9Ty ST & ST Ficaey 59 F v By T Fr s9aer G s 22

Options :

umﬁﬁmﬁr&rtng

762857925, #

H-Z3TEeT 3 ag
762857926, & © i &

Regg-svaesr are
762857927, % 3

762857928, # unEiC

Question Number : 23 Question Id : 762857233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a Power Electronics Circuit, two diodes are connected in series to:
Options :

762857929, % increase the current carrying capacity of diodes



760857930, % increase the forward voltage withstand rating of diodes

760857931 v ncrease the reverse blocking voltage withstand of diodes

760857930, % decrease the current carrying capacity of diodes

Question Number : 23 Question Id : 762857233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9leR SerEIEEd ROy #, & sE Svies F 0 2 @ &2
Options :

ST FT URT Jg AT H FhE A & e

762857929, %

260857030, % STATS =T 3 dledsl HEa1d I1EeT &l g & fow

262857931 v STAIS T U9 FUe dlecst HegAddl Hl "3 & fov

6285703, % STAIS I URT Tg &THAT H AT o & forw

Question Number : 24 Question Id : 762857234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For a step down DC-DC converter, if R is the load resistor connected at the output and D is the duty cycle, the effective
input resistance seen by the source is:
Options :
762857933, ¢ R/D



762857934, % D/R

762857935, # DXR

762857936. # DXD XR

Question Number : 24 Question Id : 762857234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U# T =39 DC-DC #==¢T & form, afg R, mgzqzr@m‘;ﬁ-‘mﬂ%ﬁ:& 3TEET =% (duty
cycle) &, & FT T TIoa T $AE TR e gem?

Options :

762857933, ¢ R/D
762857934, % DIR

762857935, ¥ D XR

762857936. ¥ D XD XR

Question Number : 25 Question Id : 762857235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cyclo converter is used for:
Options :

762857937, % DC-DC conversion



762857938, ¥ AC-DC conversion
762857939 « AC-AC conversion

762857940 ¥ DC-AC conversion

Question Number : 25 Question Id : 762857235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATEFAl-FedcT FT FAT ¥ e B smar g

Options :
762857937, % DC-DC FHTaIOT

262857938, % AC-DC FITEROT
762857939 v AC-AC FHTaI0T

762857940, ¥ DC-AC FATAIUT

Question Number : 26 Question Id : 762857236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following plants is a non-conventional source of energy?
Options :

762857941, % Thermal

762857942, ¢ Solar



762857943, % Water

762857944, % Boiler

Question Number : 26 Question Id : 762857236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farT & © F9-3r gUF, I # T SR-WRET 8T 87

Options :

762857941, % 4™

762857942, ¥ "R

762857943, % STel

762857944, % STHEAX

Question Number : 27 Question Id : 762857237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The algorithm used to extract maximum power from solar PV is known as:
Options :

762857945, ¢ MPPT

762857946, % PMMT

762857947, ¥ MMMT



762857948, ¥ MMPP

Question Number : 27 Question Id : 762857237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I PV & Hfean ufed & sy g9 9gad Teenien # gl AT gl
Options :

762857945, v MPPT

762857946, % PMMT
762857947, % MMMT

762857948, % MMPP

Question Number : 28 Question Id : 762857238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The technical standard parameter known as safety standard for grid connected inverter is called:
Options :

760857949 « Ati-Islanding Protection

762857950, % LWVRT Protection
762857951 % Short Circuit Protection

760857952, % Open Circuit Protection



Question Number : 28 Question Id : 762857238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

firs gaifaa st & T, gm A F & 7 IR JFarn Alds AIEs H gl

cicild
Options :

762857949 TT-HTS oA 1271 FI&T (Anti-Islanding Protection)

. LVRT g3 (LVRT Protection)
762857950. % >

60857051 % N8 el HTAT (Short Circuit Protection)

62857952, % el et LELRll (Open Circuit Protection)

Question Number : 29 Question Id : 762857239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solar cell converts energy of light into electricity by:
Options :

762857953 % chemical effect

762857954, photovoltaic effect

762857955, % physical effect



760857056, % Aatmospheric effect

Question Number : 29 Question Id : 762857239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ik ZET ST 1 e # aREtdE H §
Options :

767857953, % TATHTeIeh ToITe

762857954, « HAepIRl AL R EIE]
762857955, % Hie g

TYHASAT THATT

762857956. * 2

Question Number : 30 Question Id : 762857240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Network theorems are applicable to

Options :

760857957 % AC linear circuits only

762857958, % DC non-linear circuits only

760857959 % AC non-linear circuits only



762857960, ¢ AC and DC linear circuits

Question Number : 30 Question Id : 762857240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eTF THY o WL B el

Options :

62857957 % Saer AC Y@ afyaut

262857058 % e DC 3T aiygat
260857050 % haeT AC 34T iyt

262857960, ¢ AC 3T DC Y&+ afyaat

Question Number : 31 Question Id : 762857241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R; Rz <Ry Ry

Vi Va L Ve

+B
Which of the following helps in finding a single equivalent voltage source of the circuit shown in the figure?

Options :



762857961, % Reciprocity theorem

762857962, ¥ Thevenin’s theorem
762857963, ¥ WNorton’s theorem

762857964, « Millman’s theorem

Question Number : 31 Question Id : 762857241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

+B
frefaf@a & @ i @ 9877, ¥l # wBiiq Ruy F TAged T Sees did I°d W H TETF
gt 87

Options :

62857061 % TRETRERT FHT (Reciprocity theorem)

Ja@= 95T (Thevenin's theorem)

762857962, %

ATeed AT (Norton’s theorem)

762857963, %

e 98T (Millman’s theorem)

762857964, ¥



Question Number : 32 Question Id : 762857242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In polyphase AC circuits. the phase sequence RYB is the same as
Options :
762857965, % RBY phase sequence

762857966, ¥ BYR phase sequence

762857967 % YRB phase sequence

762857968 ¢ YBR phase sequence

Question Number : 32 Question Id : 762857242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sg-hat AC aftwell #, %7 3r7FH RYB % FH g gl

Options :

~ RBY = HedahH
762857965, % 3

~ BYR ®©F ¥IFH
762857966, % =

 YRB s 3aTFH
762857967, % 2



762857968. ¥ YBR St =

Question Number : 33 Question Id : 762857243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A three-phase. four-wire svstem supplies power to a balanced star-connected load. The current in each phase is 20 A.
The current in the neutral wire will be
Options :
762857969. % 20 A

762857970, % 40A
762857971, ¥ 60 A

762857972, ¢ O

Question Number : 33 Question Id : 762857243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-%<, IN-aR UMl U Hiord FER-Haled HX Hl AfFd HYd Ta Har g1 Teds bt H g 20
A 2| 35T dX # ORI # AT A1d HIaT|
Options :

762857969, ¥ 20 A
762857970, % 40 A

762857971, % 60 A



762857972« O

Question Number : 34 Question Id : 762857244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following is the One Wattmeter method of three-phase power measurement possible?
Options :

762857973, ¢ Star-connected balanced load

762857974, % Delta-connected balanced load
762857975, % Star-connected unbalanced load

762857976, % Delta-connected unbalanced load

Question Number : 34 Question Id : 762857244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafof@a & ¥ Fuh #cg @ 3 & ufeg A" F v e B g 2
Options :
762857973, ¥ =
762857974, % ‘ R

762857975. %



762857976. #

Question Number : 35 Question Id : 762857245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An electrical circuit which is operating at a certain frequency has impedance of (10-j10) €. If the frequency is made

200% of the original frequency then the new value of impedance is

Options :
762857977, v (10713) €

762857978, % (10-j10) Q

762857979, % (20-j20) Q2

762857980, % (20-]10) ©

Question Number : 35 Question Id : 762857245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ey @fRea smgfea v af=foe v faega aftay & gfasmr (10-j10) @ &1 o7f smgfca = 1=
Hgfed @ 200% T feam ST, ar Sfcarr &1 731 A fhdear grem?

Options :
762857977. ¢ (10-45) @
762857978, % (10-10) @



762857979, % (20-j20) Q

762857980, % (20-10) @

Question Number : 36 Question Id : 762857246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An ‘X’ pole, 50 Hz alternator is driven by a 60 Hz synchronous motor. Calculate the number of poles for the
synchronous motor.
Options :
762857981, # 24X

762857982, ¢ 1.2X
762857983, ¥ 2.4/X

762857984, ¥ 1.2/X

Question Number : 36 Question Id : 762857246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF X ¢a, 50 Hz JedTade, T 60 Hz JedeRTell AIET AT =ferd gl Jedsrell Al & ega’r $r gEaT
AT AT

Options :

762857981, % 2.4X

762857982, ¥ 1.2X



762857983, % 2.4/X

762857984, % 1.2/X

Question Number : 37 Question Id : 762857247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An oscilloscope shows peak-to-peak amplitude of 8 cm for a measured sinusoidal voltage waveform with vertical
sensitivity nob set to 8 V/cm. The average value of the voltage is:
Options :
762857985, # 10.19V

762857986. « 20.37V

T\.-'F

)

5

h

762857987, %

762857988, # 40.74V

Question Number : 37 Question Id : 762857247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FeATUT GAEAA A H 8 Viem T T Fh T SAMEHHIE aieT & A T T arelaer 8 cm &
RET-a-REy 37 (peak-to-peak amplitude) AT g1 dees &1 g AT fhaar gem?

Options :

762857985, ® 10.19 V

762857986, ¢ 20.37 V



762857987, ®# 2.95 V

762857988, # 40.74 'V

Question Number : 38 Question Id : 762857248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the Boolean function for the given switching circuit.

B_4
;.'& L o
&0
C
Options :
762857989, ¢ A(B +C)

762857990, % ABC
762857991, % (A+B)C

762857992. % A+B +C

Question Number : 38 Question Id : 762857248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e a7 fEafeer aftwy & v sfems wow s i

i
e

Options :

762857989, v AB +C)

762857990, % ABC

762857991, % (A +B)C

762857992. # A+ B +C

Question Number : 39 Question Id : 762857249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I C

*

o Ve

-Vout

If the output of the circuit is a “triangular wave’, the input of the circuit must be:



Options :

762857993, % Step signal

762857994, % lriangular wave
762857995, % Sine wave

760857996, « Square wave

Question Number : 39 Question Id : 762857249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-Vout

I ofyr @1 sy ‘A T ¥, O oREY # $AgE P
Options : ﬁ%l?

760857903, % Tod THIA

LT
762857994, % !

762857995, ¥ =T T



62857996, ¢ TETERIT LT

Question Number : 40 Question Id : 762857250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Self-inductance of the conductor is one of the reasons for:
Options :
762857997, ¢ Skin effect

762857998, % Corona effect
762857999 % Ferranti effect

7628571000, % Stroboscopic effect

Question Number : 40 Question Id : 762857250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTeieR T TI-9Thcd F FROT H T TF ¢
Options :

762857097, v TR TS

762857998, % HINAT TS

762857999, % P FEATS



7628571000. * E; ;

Question Number : 41 Question Id : 762857251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If n = number of times voltage rating is increased, then for a distributor design, the conductor size reduces by
of the original.

Options :
1
7628571001, % 1N

1
7628571002, ¢ T°

1
7628571003, % N3

1
7628571004, ¥ T*

Question Number : 41 Question Id : 762857251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ifg dredst YT #F n T[T FEAT ST §, O Faww Bemsa (distributor design) ¥ frw, =merss 3TN
I 3R o FH & T 2
Options :



| =

7628571001, # T

7628571002 ¢ T°

7628571003, % 13

7628571004, ¥ TM*

Question Number : 42 Question Id : 762857252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most economical area of the conductor is based on:
Options :

7628571005, ¥ Coulomb’s law

7628571006, « Kelvin’s law

7628571007, % Faraday’s law

7608571008, ® Ampere’s law

Question Number : 42 Question Id : 762857252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



qTelF & FaIds Adeadr &% (most economical area) g7 Tenia gar 2

Options :

FoTH & FHIH

7628571005, # &

7628571006, ¢ hiede & [OTH
7628571007, % XS & IR

7628571008, % U&m a‘_s ﬁm

Question Number : 43 Question Id : 762857253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a high voltage transmission, whenever the conductors are dead-ended or there is a change in the direction of the
transmission line, the insulators used are of the:

Options :
7628571009, % Shackle type
7628571010, % PHLTYPE

7628571011, % Suspension type

7628571012,  Straln type

Question Number : 43 Question Id : 762857253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TF 3= el T=ROT H, F9 =ee am Y 97 gareg 27 § a7 g=ror asa & fGer & 9feas aar
g ar T T&qu Irefr (insulator) T F BT 2

Options :

7628571009, % IeheT IhIT (Shackle type)

J628571010, % T3 TR (Pin type)

628571011, % (oS FRIT (Suspension type)

7628571012, ¢ [epfd FoFI (Strain type)

Question Number : 44 Question Id : 762857254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Impulse ratio is calculated for which of the following?
Options :

7628571013, ¥ Circuit breaker

7628571014, % Relay

7628571015, # Transformer

7608571016, v Lightning arrester

Question Number : 44 Question Id : 762857254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ﬁmﬁﬁﬁiﬂ#ﬁwmaﬁum Fr TOTAT T FJET B2

Options :

7628571013, % ST f3AISTF

7628571014, % e

7628571015, % <
7628571016. ¥ E[iEEI e

Question Number : 45 Question Id : 762857255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a line insulator, (puncture voltage)/(flash over voltage) is:
Options :
7628571017, ® €qualto0

7628571018, * cqualtol

7628571019 % less than 1

7628571020, « Ereater than 1

Question Number : 45 Question Id : 762857255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



s faega A (line insulator) % AT, (Fe=R drees)/(Teler HieR diees) 2rar g

Options :
7628571017, % O % SET

7628571018, % 1 & ST

7628571019, % 1 ® A

7628571020, v 1 & 31Tk

Question Number : 46 Question Id : 762857256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If D is the duty ratio, the input and output relation of a buck converter and boost converter are:

Options :
Vs = D and Vi
7628571021, % °¥E m sl T L
_ _ 1
7628571022, ¢ Vour = D Vi and Voye = D
D 1
Voi=—9:_ adV ..=—=1W
7628571023, % °¥f 14D ™ out = 4p
. . D
7628571024, ® Vout = D Vin a0d Vour = 15 Vin

Question Number : 46 Question Id : 762857256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ifg D 3UWRET I (duty ratio) §, @ FF Feact AN TFC Feacd & $AYC AT HBCYS HEY FAT
g

Options :
1
o s paE. sl e g
7628571021, % °MF e M ke
3 1
7628571022, ¢ Vaur = Dan Vaut == 1-D Vin
D 1
V,,,=—V. #TV  =—V
7628571023, % °M*f 14D ™ P e
=DViy AR Voue = —
7628571024, # Vour = DVin Vour = 775 Vim

Question Number : 47 Question Id : 762857257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the given circuit based on the working principle.

Options :
7628571025, ¥ Semi-controlled rectifier

7628571026, % Fully-controlled rectifier

7608571027, v AC regulator

7628571028, % Controlled inverter

Question Number : 47 Question Id : 762857257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FT e & 3R W Br v gfimy & gg=e F1

Options :

628571025, * FO-fAfT fveawrd

qur-Tafg fEeeard

7628571026, # &

C T

7628571027, ¢

7628571028, % ‘

Question Number : 48 Question Id : 762857258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



For the given figure, according to Snell’s law, Si_“—zlf?
sinfd,

Options :

7628571029, ¢ 12/

7628571030, % B1/M2
7628571031, ® M

7628571032, % 12

Question Number : 48 Question Id : 762857258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& € gl F T, = F e F 3EER, Ei_"z; FT AT Fraar gem?

N

Options :

7628571029, v D2/

7628571030, ® D1/12
7628571031, # 11

7628571032, % 12

Question Number : 49 Question Id : 762857259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Beaufort number is related to which of the following renewable energy sources?
Options :

7628571033, % Solar energy

7628571034, v Vvind energy



7628571035, % DILOgas

7628571036, % Lidal energy

Question Number : 49 Question Id : 762857259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oIe TET e # ¥ e adeoiT w0 99 § deia 82

Options :

7628571033, % T F=T

7628571034, ¢ Gl FaT

2628571035, % STORE

o c
7628571036, ¥ ~FEIRI4L Sl

Question Number : 50 Question Id : 762857260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a drawback of tidal power?
Options :
7608571037, % Fredictable energy output

7608571038, # Running cost is cheap



7628571039, % Frotects coastal flooding

7608571040 v Maintenance and repair of equipment

Question Number : 50 Question Id : 762857260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & ¥ FiF o sad ufFa & e g2

Options :

SHF FAT HBTYT HT TEAGA AT AT Febell &

7628571037. %

7628571038, % SR JETA AT BEST &

628571030, % T AT TG W FAT &

2628571040, v STHION I TEIETE TF HFEAT

Section 2
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Section type : Online
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Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 76285768
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 762857261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many foreign satellites were launched on a commercial basis during the year 2019 by ISRO?
Options :

7628571041, % 40

7628571042, % 35
7628571043, ¢ S0

7628571044, ® 45

Question Number : 51 Question Id : 762857261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 2019 F 2R W (ISRO) garr Fifvifsas 3uR WX s el sqeet & gaiour G = 27

Options :
7628571041. % 40

7628571042, % 35
7628571043, ¢ 90

7628571044, % 45



Question Number : 52 Question Id : 762857262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Researchers from which of these institutes have developed materials that can produce energy from water on a small

scale in December 20197
Options :

7628571045, % 1T Bombay

7628571046, % LT Kanpur

7628571047, % IIT Delhi

7628571048, « IIT Guwahati

Question Number : 52 Question Id : 762857262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T & § &g doue & dtusarst o REeaT, 2019 & o gl Refag #r 2 s o d9m «w
9T § FAT & 3G HY Hehal 87

Options :

7628571045, # mé:méﬁ a'Tﬁ
sméanéeY T

7628571046. %

7628571047, % HIZHTRET fEeeh



TSRS F[ATEIET

7628571048. ¥

Question Number : 53 Question Id : 762857263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote the book called the “Wealth of Nations™?
Options :

7628571049 % Marshall

7628571050, ¢ Adam Smith

7628571051, # Karl Marx

7628571052, % Ricardo

Question Number : 53 Question Id : 762857263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y ATH A FAHF TEAF & oEF Pl g7

Options :

7628571049, % FTYS
7628571050, v T=H TEHY
7628571051, % TSl FIFH
7628571052, % 1XePTEN



Question Number : 54 Question Id : 762857264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the below books is NOT composed/authored by Harshvardhan?
Options :

7628571053, % 1Naganand

7628571054, % Ratnavali

7628571055, % Friyadarshika

7628571056, « Harshacharita

Question Number : 54 Question Id : 762857264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefaf@a & & =i @ Fas gv9ads @rr defoa/faf@a 7@ 22

Options :
7628571053, # ATl o

7628571054, % TceATaoll
7628571055, % TATE e
7628571056, ¥ ARG



Question Number : 55 Question Id : 762857265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country was earlier known as Siam?
Options :

7628571057, # SriLanka

7628571058, ¢ Thailand

7628571059, % Nepal

7628571060, ¥ Korea

Question Number : 55 Question Id : 762857265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7 @ g 3 FF 98 TH (Siam) & 17 § =T ST o1?

Options :

7628571059, % <TdTed

7628571060. * HIRT



Question Number : 56 Question Id : 762857266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Maharana Kumbha was the ruler of:
Options :

7628571061, « Mewar
7628571062, % Marwar

7628571063, % Jodhpur

7628571064, % Jalpur

Question Number : 56 Question Id : 762857266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HENIUT e & ATHF o

Options :

7628571061. ¢ E

7628571062, * CIE

7628571063, * 2

S
7628571064, * =

Question Number : 57 Question Id : 762857267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The Amer Fort is built on one of the hills of which mountain range?
Options :
7628571065, v Aravalli Range

7628571066, % Vindhyachal Range

7628571067, ¥ Malwa Plateau

7628571068, ¥ Western Plain

Question Number : 57 Question Id : 762857267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7 e B g9amTer $r v 9@Er 9 g4 27

Options :

7628571065, v AT TATATEN

7628571066, % [SETTH TadATH

7628571067, ¥ HTAl &Rl TS

7628571068, * TR 3 are

Question Number : 58 Question Id : 762857268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When was National Stock Exchange of India (NSE) incorporated?
Options :
7628571069. ¥ 1998

7628571070, % 1995
7628571071, ¢ 1992

7628571072, % 1993

Question Number : 58 Question Id : 762857268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAAT Tl TFH=I=T % sB3AT (NSE) #r Fa Rerfaa Gar srar ar?

Options :

7628571069, % 1998
7628571070, % 1995
7628571071, 1992

7628571072, % 1993

Question Number : 59 Question Id : 762857269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city secured the first place in the 10 lakh plus population category, in the results at Swachh Survekshan League

2020, for first and second quarters?



Options :

7628571073, * Bhopal

7628571074, % AErA
7628571075, % Surat

7628571076, « Indore

Question Number : 59 Question Id : 762857269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TE=s TH&T0T e, 2020 F Tget R gl TEEr & IRt F R o A 10 T § 30w Fawe
Jrer AT Fr AT F guH TET g &ar §2

Options :

7628571073, % TITel

7628571074, % 3TN

7628571075, %

7628571076. ¥ ‘ i

Question Number : 60 Question Id : 762857270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the theme of the Human Rights Day 20197



Options :

1 . g o R . i
7608571077, % Let’s stand up for equality, justice and human integrity.

7608571078, % Stand up for someone’s rights today.

7608571079« Youth standing up for human rights.

7628571080, % Our rights our freedom.

Question Number : 60 Question Id : 762857270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ArFETOER fGFw 2019 #r faww-arg (Theme) Fa1 off?

Options :

2628571077, % SR HHTAAT, &I UT ATH3T HEEAT & T UF T@TY HT

Seoss71078, % HT & TR & #fowRt & faw @g g

mmﬁmﬁé:ﬁvﬁmgmgm

7628571079. ¥

2608571080, % BHIY HIEHR gAY P EL

Sub-Section Number : 2
Sub-Section Id : 76285769
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 762857271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If a net charge *Q’ flows across any cross section of a conductor in time *t’, then the current ‘I’ is:
Options :

¢
7628571081, % Q

Q
7628571082. ¢ L

7628571083, ® QA X t

7628571084, % Q- T

Question Number : 61 Question Id : 762857271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofE fBFelt F7 ¢ & ST T Tres B BT o swey Fe & vaed @ JreT g e Q) g, a
T ‘I' T AT FT gEm?

Options :

LD et

7628571081, %

Q
7628571082. ¢ L

7628571083, ® QA X t



7628571084 ¥ Q- T

Question Number : 62 Question Id : 762857272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per the New Cartesian Sign Convention, the correct mirror formula is:

Options :
1 1
R T
7628571085, % U v
1 1
7628571086, # u v
1.1 1

7628571087. % v u f

7628571088. ¢ VU

Question Number : 62 Question Id : 762857272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
73 Faa e aREr F 3FER, U F /G I FA 2

Options :

1 4 4

7628571085, % u [ v



1 1 1
7628571086. % U [ v
1 2 1
e~ g
7628571087. % V. u f
1 4 1
—4—=—
7628571088 ¢ V. u

Question Number : 63 Question Id : 762857273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kiran swims in a 100 m long pool. He covers 200 m in one minute by swimming from one end to the other and back
along the same straight path. Find the average velocity of Kiran.

Options :

-
7628571089, ® 3.33ms

-1
7628571090, ¥ 1.66 ms

% |
7628571091, ¢ 0ms

5 |
7628571092, % 16.6ms

Question Number : 63 Question Id : 762857273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fator T 100 m ¥F dTerE # R g1 9% Ue A § ave gl faY a9 I AR 3E ue & A
H H 9T & 75 200 m & gff v B F 97 war g, oor @1 sitea 39 | fifew
Options :

-1
7628571089, ¥ 3.33ms

-1
7628571090, % 1.66 M3

-1
7628571091, O ms

% |
7628571092, % 16.6 m s

Question Number : 64 Question Id : 762857274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sound wave has a frequency of 1 kHz and a wave length 35 cm. Approximately. how long will it take to travel 1.5

km?

Options :

7628571093, ¥ 2.1 sec
7628571094, ¥ 1.2 sec

7628571095, « 4.3 sec

7628571096. % 3.4 sec

Question Number : 64 Question Id : 762857274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

v e3fe G Fr 3mgfed 1 kHz 3R G &2 35 cm 1 3 1.5 km Fr g T = F wremsmer o
THT RE?

Options :
7628571003, * 2.1 WS

7628571094, % 1.2 TFS
7628571095 ¢ 4.3 HPE

7628571006, * 3.4 W3

Question Number : 65 Question Id : 762857275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An atom has electronic configuration 2.8.7.

To which of the following elements would it be chemically similar. Given in brackets are the atomic numbers of the
elements
Options :

7628571097, % AT (18)

7628571008, % > (16)

7628571099, ¢ B (39)

7628571100, % € (34)



Question Number : 65 Question Id : 762857275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Te SIA] F ey foeaw 2, 8, 7 B

fefof@a & @ #ia @ a7 THEfAE & § W FA gEN? dcal $ IHAY] EAY HISeH H & TS
gl

Options :

7628571097, % Ar (18)

7628571098, * S (16)

7628571099, v Br (35)

7628571100, % o€ (34)

Question Number : 66 Question Id : 762857276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution contains more H' ions than OH ions. In this case the solution is
Options :
7628571101, % Basic

7628571102, ¢ Acidic

7628571103, % Neutral

7628571104, % Aamphoteric



Question Number : 66 Question Id : 762857276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U e # H 3t &7 g&01, OH 3Tt ¥ 31 21 5§ A s A faeaa gl

Options :

7628571101. % BT

7628571102, ¢ FEGTT
7628571103, % 3T
7628571104, % FsTgert

Question Number : 67 Question Id : 762857277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is formed in our muscles during cramps?
Options :

7628571105, % Formic acid

7628571106, % Acetic acid

7628571107, % Malic acid

7628571108. « Lactic acid



Question Number : 67 Question Id : 762857277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl AR F o ¥ R s @ FT @ RET @ 2

Options :
7628571105, % BT 375

7608571106, % CTAICEH THAS
7608571107, % Hioteh 3ol

1678571108, ¢ oTFEeR 3FeT

Question Number : 68 Question Id : 762857278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following hormones in plants stimulate(s) the cells to grow longer on the side of the shoot which is away
from light?
Options :
7628571109, ¥ Gibberellins
7628571110, % Cvtokinins

7628571111, ¥ Abscisic acid

7628571112,  Auxins



Question Number : 68 Question Id : 762857278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafafea @ Fia @ gl ot & 3R #r 3@ Rer § FREET & 3R # st wa § S
SeRTer & T g 872

Options :

7628571109. * ECHEL

7628571110, * > Ei I
7628571111, # T aF 3

7628571112, ¢ 31 FO

Question Number : 69 Question Id : 762857279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speciation takes place when variation occurs with:
Options :
7608571113, % climatic changes

7608571114, % changes due to earthquakes

7608571115, « &eographical isolation

7608571116, % changes due to global warming



Question Number : 69 Question Id : 762857279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

389+ (Speciation) aF gaT &, 9 @ewar ¥ 3cTe grar gl

Options :

gfEas

L SAeldid
7628571113, # -

 8TRT & FIOT 9iEae
7628571114, % &~

7628571115. ¢ I

608571116, % TGS TMHT & HRUT TRII

Question Number : 70 Question Id : 762857280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A current of 0.5 amperes flows through the filament of an electric bulb for 12 min. Calculate the amount of electric
charge that flows through the circuit.
Options :
7628571117. % 60C

7628571118, % 6C
7628571119, 360 C

7628571120 # 36 C



Question Number : 70 Question Id : 762857280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v faega se8 & deqg ¥ 12 fAae &1 3@ g% 0.5 vPmR T arT wearfea @ g1 9R9y ¥ varfed
gl arer fagge amaer $r AT #r AT H

Options :

7628571117. % 60 C
7628571118. ¥ 6 C

7628571119, + 360 C

7628571120, % 36 C

Sub-Section Number : 3
Sub-Section Id : 76285770
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 762857281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
v . 1 . .
The decimal representation of S Is givenas

Options :
7628571121, % 0.142856

7628571122, « 0.142857

7628571123, % 0.142858



7628571124, % 0.142859

Question Number : 71 Question Id : 762857281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
.I

;ﬂﬂaﬂmﬁﬁxﬁwﬁmﬁﬁaaﬁ#ﬁﬂmgﬁw

Options :
7628571121, % 0.142856

7628571122, ¢ 0.142857
7628571123, % 0.142858

7628571124, % 0.142859

Question Number : 72 Question Id : 762857282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a mixture the ratio of A and B is given as 2 : 5. When 300 gms of A and 400 gms of B are added to the initial mixture,
the ratio of A and B changes to | : 2.What was the quantity of A that was there in the initial mixture?
Options :

=
7628571125, % 200 g

7628571126, % 500 gms

7628571127, v 400 gms



7628571128, % 00 gms

Question Number : 72 Question Id : 762857282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordir famr & A 3K B &7 a9rd 2:5 &1 1§ A #T 300 gms AT AR B #r 400 gms AT H
R a0 F fFemar Srar &, a A 3R B &7 39a aeoet 1 2 & ST g1 3R s 7 A
Fr AT Trgar or?

Options :

7608571125, % 200 gms

7628571126, % 900 gms

7608571127, « 400 gms

7628571128, % 200 gms

Question Number : 73 Question Id : 762857283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Factorise the expression given below:
¥ 8xt S 11K 1R

Options :

s r v

7628571129, % (X-1)(X-2)X79)

7628571130, % (XTLINX-2)(x-9)



7628571131, % (X 1)(XT3)(x-6)

7608571132, ¢ (X-1(XT2)(xX-9)

Question Number : 73 Question Id : 762857283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A AT 31T S F AUEEE AT ST

X3 - 8x2 - 11x + 18
Options :

7628571129, % (X=1)(x-2)(x+9)

7628571130, % (XT1)(x-2)(x-9)

7608571131, % (X-1)(x+3)(x-6)

7628571132, ¢ (X 1)(x+2)(x-9)

Question Number : 74 Question Id : 762857284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2x — 3y =-1 and 5x — 4y = 15 and both satisfied by x =*a’ and v = *b’, then the value of *a’ is
Options :

7628571133, % 10

7628571134, 1



7628571135, % 4

7628571136, % 1

Question Number : 74 Question Id : 762857284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afg 2x- 3y =-1 3 5x-4y =15 ¥ 3 = FAF0T x = '@’ Wy = b @ FFe e §, A ‘@

T AT AT FIAT
Options :

7628571133, ¥ 10
7628571134, ¢ 71
7628571135, % 4

7628571136, % 1

Question Number : 75 Question Id : 762857285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To draw a definite straight line, the number of points that should be given is
Options :

7628571137. ¢ 2

7628571138, % 1



7628571139, ® 3

7628571140, % 4

Question Number : 75 Question Id : 762857285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
v g das @ s W @ & v, v s e fgat Fr wear e @ aifge?

Options :
7628571137, ¢ 2

7628571138, % 1
7628571139, ¥ 3

7628571140, ¥ 4

Question Number : 76 Question Id : 762857286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lengths of the three sides of a triangle are given as 14 cm, 9 cm and 7 cm. What is the area of this triangle?

Options :
?
2608571141, ¢ 12vb em

e 17 5 2
7628571142, ¥ J<.5 €D

7
7608571143, % 18vD cm



.
7628571144, % 32 cm”

Question Number : 76 Question Id : 762857286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
v eyt 1 AT ofatt @ FETSAT 14 cm, 9 cm 3R 7 cm 1 38 ey @1 avwe A Hifav
Options :
2z
J628571141, v 12V5 €m

) 2
7628571142, ® 32.5 cm

2
7628571143, % 18V5 cm

) 2
7628571144, ¥ 32 €mM

Question Number : 77 Question Id : 762857287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABCD is a cyclic quadrilateral with 2A = 73°, What is the measure of £C?
Options :

7628571145, % 13°

| i

7628571146. %

7628571147, % 717°



7628571148, « 107°

Question Number : 77 Question Id : 762857287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ABCD U& =T Ig+ g, fo@d <A = 73° €1 «C & A/ A1 Hfw|
Options :

7628571145, % 73°

7628571146, % 17°
7628571147. % 17°

7628571148, ¢ 107°

Question Number : 78 Question Id : 762857288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of the base and the height of a cylinder are in the ratio 8 : 3. The radius of a sphere is three-fourths of the
radius of the cvlinder. What is the ratio of the volume of the cylinder to that of the sphere?
Options :
7628571149, % 4

L

L
.

7628571150, %

I
L]

7628571151, ¢

L%
[E]

7628571152, #



Question Number : 78 Question Id : 762857288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et aoa & 3R i e AR F # 3ea 8 ¢ 3 81 R ey iy e, due & e F dw-
durs F AT g1 I AR WA F AUAAT F IS AT HIAT

Options :
7628571149, % 4 = 3

7628571150, % 3 - 4
7628571151. ¢ 2 - 3

7628571152. % 3 : 2

Question Number : 79 Question Id : 762857289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mean of 32, 48 and another number is 45. What is that number?

Options :

7628571153, ® 350
7628571154, ¢ 35
7628571155, % 60

|

L

7628571156. %



Question Number : 79 Question Id : 762857289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32, 48 T UF 3= TEIT FT AT 45 §| 98 TEAT AT ST
Options :

7628571153, ¥ 90
7628571154, ¢ 95
7628571155, % 60

7628571156, % 97

Question Number : 80 Question Id : 762857290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 6 is an acute angle, and cost = 0.4, what is the value of tan6?
Options :

7628571157, % V(E

7628571158, % V5.75
7628571159, % 2.5

7628571160, ¢ V925

Question Number : 80 Question Id : 762857290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IfE 6 TF 747 FIOT &, 3R cosh = 0.4 §, A tans F AT A HAT

Options :

7628571157, # V6

7628571158. % V 5.75

7628571159, ¥ 2.5

7628571160, V2.25

Sub-Section Number : 4
Sub-Section Id : 76285771
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 762857291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following pie-chart shows the expenditure incurred in running an orphanage every month. Study the pie-chart and

answer the given question based on it.

How much money is spent on the education of the orphan children in the first two months, if the total expenditure is

%58,000 per month?
Options :
7628571161, % 23,200

7628571162, ¢ 46,400

7628571163, % 34800

7628571164, % 17,400

Question Number : 81 Question Id : 762857291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g IB-aE s FATUET F GO # g aer "3l O Fr 92T #ar g1 912 =9 #+
ETTA FY AT 3/ W ARG 997 F 3ea? &

ofg For a7 258,000 9 AE §, @ Uger & Felal A T F=al Hr NeT (education) X = =
Options :
7608571161, % 323,200

7628571162, v 146,400
7628571163, * 194,800

7628571164, % 217,400

Question Number : 82 Question Id : 762857292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following options is best represented by the given Venn diagram?

5  lrangle, Quadrilateral, Square

Options :

762857116
7608571166, % Football fans, Cricket players, Students

7608571167, % Girls, Dancers, Singers

7628571168, % Protons, Electrons, Atoms

Question Number : 82 Question Id : 762857292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fase # ¥ 59 BT 910 39 3@ @ Wafcad &7 & STar ST §ohel 27

(0)0

Options :

Fgst, aqueT,

7628571165, ¢ =



7628571166. % =2

i LY
608571167, % TSR, Heleh, I

9IaTd, SeleFdied, TIHTIT
7628571168, # : ! 2

Question Number : 83 Question Id : 762857293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the number that can replace the question mark (?) in the following series.
6,:12,20,7 .42

Options :
7628571169. *

I
-1

Lo
[

7628571170. *

fad
L

7628571171, #

(%]
=

7628571172, ¢

Question Number : 83 Question Id : 762857293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3IF GEAT F I3 +L, F FFaraiad 8o F geaar=es B (?) F T 9T 37 TFar 2l
6, 12, 20, ? , 42
Options :

7628571169, ¥ 27



7628571170, ¥ 32
7628571171, ¥ 35

7628571172. ¢ 30

Question Number : 84 Question Id : 762857294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given pattern carefully and select the figure that can replace the question mark (?) in it.

II( P \ ;- / -.__x-" i
: L —
2 TN

Options :

7628571173, #




7628571174, #

©

7628571175, #

7628571176, ¢

Question Number : 84 Question Id : 762857294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 717 S 1 cuAESE FemTT Y AR 3H HFa F 9O H, A FHA 9T BEd (7) F WA |

3 H &

CN D

, ] .Y
L S /A]

f/d_ﬁ\‘

‘ L

7628571173, #

7628571174, #

7628571175, #




7628571176. ¥

Question Number : 85 Question Id : 762857295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Six girls are sitting in a row facing towards the north. Dolly is sitting to the left of Mukta. There are 3 girls to the right

of Mukta. Sriya is sitting at the extreme right side. Laya is sitting to the immediate right of Dolly. There is only one girl
sitting between Laya and Devika and Bhavana and Mukta. Who is sitting to the immediate right of Devika?

Options :

7628571177, % Laya

7628571178, % Dolly

7628571179, + Bhavana

7628571180, ¥ Mukta

Question Number : 85 Question Id : 762857295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH GTFd H OF WSThAT 3cal HI AR HE Fh 98T g1 STl HadT % a1 3R AST gl HFA & a8 3R 3
=TT &1 81T % 3T TeheH TRy O o487 §1 T, =rev & g2 MY 8 s 7 447 7 o 3k
faerT, T sTaeT 3R AFT & S FIa TH d5Hr 98 gl e & @ 3R A T H Hl 58 22

Options :



7628571177, % &4l
7628571178, % STeil

7628571179, « ATl

 HeRdT
7628571180, * =
Sub-Section Number : 5
Sub-Section Id : 76285772
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 762857296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a computer mouse which uses an LED light source to detect movement relative to the surface.
Options :

7628571181, ¥ Optical mouse

7628571182, % Laser mouse
7628571183, ¥ Mechanical mouse

7628571184, ¥ Trackball mouse

Question Number : 86 Question Id : 762857296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Teh VAT FOYX ABH ¢, [FHH g & AT AT %k FHAS & o0 TASS TR B H
suger BT ST g

Options :

7628571181, v HITCCHS HIZH

7628571182, % oh=IX HISH

7628571183, % HeRleThel HT3H

7628571184. % E I HISH

Question Number : 87 Question Id : 762857297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a note-taking program in MS Office suite?
Options :

7628571185, « OneNote

7628571186, % Access

7628571187, % Outlook

7628571188, % Visio

Question Number : 87 Question Id : 762857297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ol & @ #i7 a1 wAw 3w gse 7 A 79 7 S$RA 82
Options :

g (OneNote)

7628571185, ¢

TFHd (Access)

7628571186. *

. HA3TTH (Outlook)
7628571187, 2

=& (Visio)

7628571188. %

Question Number : 88 Question Id : 762857298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methodologies ensures that development and operations go hand-in-hand?
Options :
7608571189, % Development

7628571190, % Operations Research

7628571191, ¢ DEVOPS

7628571192, % React

Question Number : 88 Question Id : 762857298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

7628571189, * STTIHT
7628571190, % 3TReT RER

233 (DevOps)

7628571191, ¢

7628571192, % RuFe

Question Number : 89 Question Id : 762857299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A phenomenon in which a process spends more time on swapping pages rather than on executing is called:
Options :

7608571193, % Segmentation

7628571194, % PAgINg
7608571195, v thrashing

7628571196, ¥ fragmentation

Question Number : 89 Question Id : 762857299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

J628571103, % TITHCUS (segmentation)

93T (paging)

7628571194, %

AT (thrashing)

7628571195, ¢

J628571106. % TPIHERIE (fragmentation)

Question Number : 90 Question Id : 762857300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of end-to-end connections required in a full mesh topology network with 15 nodes is:
Options :

7628571197, % 120

—_

7628571198, « 105

[—
en

7628571199. *

7628571200, ¥ 210

Question Number : 90 Question Id : 762857300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
7628571197, % 120

7628571198, ¢ 105
7628571199, ¥ 15

7628571200, % 210

Sub-Section Number : 6
Sub-Section Id : 76285773
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 762857301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Always take extra pair of clothes and umbrella when you go out of house during rainy season.

Options :

7608571201 % Al a; the: a

7628571202, % @ an; the; the

7608571203, v Al an; the: the

7608571204, % the;: the; the: the



Question Number : 91 Question Id : 762857301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Always take extra pair of clothes and umbrella when you go out of house during rainy season.

Options :

7628571201, % Al a; the: a

7628571202, % @: an; the: the

7628571203, ¢ AL an: the; the
7628571204, % the: the; the; the

Question Number : 92 Question Id : 762857302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This box is heavy I cannot lift it.
Options :
7628571205, # S50- 83

7628571206, % @550

7628571207, % though: that



7628571208, « S0 that

Question Number : 92 Question Id : 762857302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

This box is heavy I cannot lift it.
Options :
7628571205, % SO- @3

7628571206, % @550

7608571207, % though: that

7628571208, v S0: that

Question Number : 93 Question Id : 762857303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

We shall definitely finish this project by the end of the month.
Options :
7628571200, ¥ This project shall be definitely finished by us by the end of the month.

7628571210, % This project is definitely finished by the end of the month.



7608571211 % This project is being definitely finished by the end of the month.

7608571212, % Ihis project shall be definitely finish by us by the end of the month.

Question Number : 93 Question Id : 762857303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

We shall definitely finish this project by the end of the month.
Options :
7608571209« Ihis project shall be definitely finished by us by the end of the month.

7608571210, % Lhis project is definitely finished by the end of the month.

7608571211, % This project is being definitely finished by the end of the month.

7608571212, % Lhis project shall be definitely finish by us by the end of the month.

Question Number : 94 Question Id : 762857304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in reported speech.

I said to my mother, “Do not wait for me for dinner.”

Options :



7628571213, v 1 told my mother not to wait for me for dinner.

7608571214, % 1 told my mother do not wait for me for dinner.

7608571215, % 1 told my mother not wait for me for dinner.

7608571216, % 1 told my mother not to wait for her for dinner.

Question Number : 94 Question Id : 762857304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in reported speech.

I said to my mother, “Do not wait for me for dinner.”
Options :
7608571213 v 1 told my mother not to wait for me for dinner.

7608571214, % 1 told my mother do not wait for me for dinner.

7608571215, % 1 told my mother not wait for me for dinner.

7608571216, % 1 told my mother not to wait for her for dinner.

Question Number : 95 Question Id : 762857305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Parts of the following sentence are given as options. Identify the part that has an error.

The Japan decluttering superstar Marie Kondo convinced many young Indians to clean out their cupboards.
Options :

7628571217, « Lhe Japan

7628571218, ¥ decluttering superstar Marie Kondo

7628571219, % convinced many voung Indians

7628571220 % 1O clean out their cupboards.

Question Number : 95 Question Id : 762857305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of the following sentence are given as options. Identify the part that has an error.

The Japan decluttering superstar Marie Kondo convinced many young Indians to clean out their cupboards.

Options :
7628571217, v 1he Japan

7628571218, % decluttering superstar Marie Kondo

7628571219, % convinced many young Indians

7628571220, % 1O clean out their cupboards.



Sub-Section Number : 7
Sub-Section Id : 76285774
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 762857306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T & & o8R8 FAg & T4 Al

Options :

628571201, % ¥o0 SIHEY, 3TeH

7628571222, ® PPUI, HIfehel, Ta

7628571223.

| & uftrE, of

7628571224.

Question Number : 96 Question Id : 762857306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T & & ac8R &g FAg & T Dl

Options :

628571221 % ¥ SIHEY, 3eH

7628571222, ® PPUI, lfehel, Ta



7628571223, *

7628571224, ¥

Question Number : 97 Question Id : 762857307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e 3 # =T3a fiE

Options :

Hlé(-ﬂ_fﬁl-?

7628571225,

LY [
7628571226, % Hladeh-Hdcleh

7628571227, ® SN : i“
7628571208, % [HRUH-HHIS

Question Number : 97 Question Id : 762857307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TerH IIH HT AT FI=

Options :

Hr;‘r-a_m:

7628571225, ¥

2628571206, % HITIP-TTdeh



7628571227, ® SHL : i‘E!
7608571208, % [AXUR-AHUS

Question Number : 98 Question Id : 762857308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fafea & & TaT-2ee-aag & == e
Options :

7628571229, *

7628571230. * 3T, Y, 3iTel

7628571231. ¢ =2

7628571232, % g, Seuaas, aradr

Question Number : 98 Question Id : 762857308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fof@a J 9 JHgar-2ree-aag & 994 Sy
Options :

7628571229 #



7628571230. * 3T, Y, 3iTel

7628571231. ¢ =2

7628571232, % g, yoaEad, araEr

Question Number : 99 Question Id : 762857309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 7 @ +iF @1 e T=ifoeT J8r g7
Options :
7628571233, % aiHAdl

7628571234, % GHI
. dFd
7628571235, % =

HA
7628571236. ¥ =

Question Number : 99 Question Id : 762857309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=fofaa § O siF I aeg = 738 27
Options :

7628571233, % oA



7628571234, ® QT
- JEd
7628571235, % 5

AT
7628571236, ¥ 2

Question Number : 100 Question Id : 762857310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forpee @ fBwar eonreR g & FuaT H FwET -
Options :

2628571237, % TS & BT AT, FAH-FAFH HT A=A

S & N7 e # o

7628571238, ¥

628571030, % AT & FIGS H ATH Fl

7628571240, % 1 % T AN @

Question Number : 100 Question Id : 762857310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forpse &1 T TURER B ¥ FuA # deied §-
Options :

628571237, % HIS F BT AT, FAF-FAHT FH Al
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7628571238, ¢

608571030 % TSl @ IS H AT el

628571240, % T % B TW G



